Palm Beach County Fleet Management
Asset Maintenance History

10156446 2005 EAGER BEAVER 35GSLBR Trailer, 35 Ton, Lowboy
Workorder: 549085 Meter: 8 In Date: 06/30/2005 Closed: 07/14/2005
Problem: CHECK IN
- Ck In Get Keys Parts List Qty
- Shop Supplies Shop Supplies 1.00
Key,honda 7635063 12.00
Hours 8.00 Labor: 400.00 Parts: 112.88 Total: 512.88
Workorder: 549758 Meter: O In Date: 07/08/2005 Closed: 07/08/2005
Problem: MAKE & APPLY DECALS. CHECK FLUIDS, BELTS, AND OPER
- Make & Apply Decals. Check Fluids, Belts, And Operation
As Applicable.
Hours 1.00 Labor: 50.00 Parts: 0.00 Total: 50.00
Workorder: 552784 Meter: O In Date: 08/11/2005 Closed: 08/11/2005
Problem: TAG CHG 08/11/05
- Tag Chg 08/11/05 Parts List Qty
Vehicle Tag Charge 1.00
Hours 0.00 Labor: 0.00 Parts: 51.85 Total: 51.85
Workorder: 834618 Meter: O In Date: 02/25/2008 Closed: 02/26/2008
Problem: NO START
- Ck Engine For No Start. Flooded Parts List Qty
- To C.rock Shop Supplies 1.00
- Shop Supplies
Hours 2.00 Labor: 120.00 Parts: 2.00 Total: 122.00
Workorder: 834965 Meter: O In Date: 03/04/2008 Closed: 03/11/2008
Problem: PM SERVICE
- Pm Pony Motor. Parts List Qty
- Replace Broken Wood On Trailer Floor. Shop Supplies 1.00
- Nitro Fill 8 Tires. Air Filter 1.00
- Shop Supplies 10w30 Motor Oil 2.00
Bpr6es Spark Plug 7131 1.00
Hours 5.50 Labor: 330.00 Parts: 21.10 Total: 351.10
Workorder: 843030 Meter: O In Date: 08/08/2008 Closed: 08/20/2008
Problem: TIRESOLES OF BROWARD INC
- Tiresoles Of Broward Inc
Hours 0.00 Labor: 0.00 Parts: 0.00 Total: 0.00
Workorder: 843031 Meter: O In Date: 08/08/2008 Closed: 08/20/2008
Problem: TIRESOLES OF BROWARD INC
- Tiresoles Of Broward Inc
Labor: 0.00 Parts: 0.00 Total: 0.00

Hours 0.00



Palm Beach County Fleet Management

Asset Maintenance History

Workorder: 940918 Meter: O In Date: 07/17/2009 Closed: 07/29/2009
Problem: pm service
- pm service Parts List Qty
- pm pony engine Shop Supplies 1.00
- replace battery Air Filter 1.00
- replace left front and right rear marker lights 1259 Hydr Filter Lbf Frm P1653a Wix 51259 1.00
- nitro all tires 10w30 Motor Oil 2.00
- replace two boards on trailer deck 10205y Marker Light 2.5" Yellow Grote 45813 1.00
- adjust brakes Group 26 Battery (acd 26ps) 1.00
- Shop Supplies 54a Yellow Reflector Oval Reflector 1.00
5/16-18x3 Deck Screws T/c Torx M/s Blk 1.00
Hours 13.00 Labor: 780.00 Parts: 139.68 Total: 919.68
Workorder: 942189 Meter: O In Date: 08/17/2009 Closed: 08/17/2009
Problem: Tires
- 8100 Forest Hill
Hours 0.00 Labor: 0.00 Parts: 0.00 Total: 0.00
Workorder: 942190 Meter: O In Date: 08/17/2009 Closed: 08/17/2009
Problem: service
- 8100 Forest Hill
Hours 0.00 Labor: 0.00 Parts: 0.00 Total: 0.00
Workorder: 943766 Meter: O In Date: 09/25/2009 Closed: 09/28/2009
Problem: Glad Hand air line loose
- tighten fitting to glad hand
Hours 0.50 Labor: 30.00 Parts: 0.00 Total: 30.00
Workorder: 1000905 Meter: O In Date: 01/25/2010 Closed: 01/27/2010
Problem: install wide load sign
- fab and mount oversize load sign Parts List Qty
- move and park low boy trailer Shop Supplies 1.00
- Shop Supplies 3/16x2-1/2x20 Steel Angle 3.00
1/4x4x12 Alum Plate 5052 6.00
Hours 7.00 Labor: 420.00 Parts: 51.26 Total: 471.26
Workorder: 1002210 Meter: O In Date: 01/13/2010 Closed: 03/03/2010
Problem: lzzy tire from Okeechobee to do tire call need 2 tires because of BLow out.
- Southern Blvd East of Belle Glade westbound
Hours 0.00 Labor: 0.00 Parts: 0.00 Total: 0.00
Workorder: 1006699 Meter: O In Date: 06/15/2010 Closed: 06/25/2010
Problem: d/r/o flat tire
- 8100 forest Hill Blvd next to fuel pumps
Parts: 0.00 Total: 0.00

Hours 0.00 Labor: 0.00



Palm

Beach County Fleet Management
Asset Maintenance History

Workorder: 1010046 Meter: O In Date:  09/14/2010 Closed: 09/21/2010
Problem: pm service
- pm service Parts List Qty
- pm aps engine Freight 1.00
- replace mud flap Shop Supplies 1.00
- Shop Supplies 1259 Hydr Filter Lbf Frm P1653a Wix 51259 1.00
15/40 Oil 2.00
Left Side Mud Flap 1.00
Hours 6.50 Labor: 390.00 Parts: 53.32 Total: 443.32
Workorder: 1110674 Meter: O In Date: 10/05/2011 Closed: 11/03/2011
Problem: pm service and replace wood decking
- pm service Parts List Qty
- replace wood decking Big G Degreaser Stock# 485180002 1.00
- replace oil hub cap and fill Shop Supplies 1.00
- engine aps pm 1259 Hydr Filter Lbf Frm P1653a Wix 51259 1.00
- wash 17210ze3505 Air Filter Honda 1.00
- Shop Supplies 85/140 Gear Oil Gear Lube 3.00
15/40 Oil 2.00
2x8x16 Lumber 13.00
2x6x16 4.00
Hub Cap {oil Cap} 2.00
3/8x2 Fender Washer 100.00
3/8x21/2 Tag Bolts 100.00
3/8 Locknut 100.00
Hours 44.00 Labor: 2,640.0 Parts: 507.62 Total: 3,147.62
: 0
Workorder: 1211817 Meter: O In Date: 12/06/2012 Closed: 12/27/2012
Problem: pm service
- pm service Parts List Qty
- aps pm 05088 Brake Clean 1.00
- replace some deck boards Napagold Air Filter 1.00
- couple and uncouple trailer P1653a Hydr Filter Lb 1.00
- Shop Supplies Napa 10w40 Qt 2.00
39885 Grease 2 5 Mol 1.00
Shop Supplies 1.00
Hours 10.00 Labor: 600.00 Parts: 41.78 Total: 641.78
Workorder: 1311909 Meter: 0 In Date:  11/27/2013 Closed: 12/18/2013
Problem: trailer plug
- replace trailer plug and check all lights Parts List Qty
- Shop Supplies Plug 1.00
Shop Supplies 1.00
Labor: 120.00 Parts: 11.44 Total: 131.44

Hours 2.00



Palm Beach County Fleet Management
Asset Maintenance History

Workorder: 1403216 Meter:

Problem: pm

-P.m.

- Service pony motor

- Road test trailer

- Replace broken wood on deck
- Repair lights

- Rebuilt both ramp cylinders

- Shop Supplies

Hours 17.00

In Date:  04/02/2014

Parts List

Napa Hydraulic Filtr
Aw68 Hydro Fluid Hydr
Napa 10w40 Qt

Brake Cleaner

2x8x8ft Pt Wood
Scotseal Hub Cap

1qt Syngear Oil 75-90
Led FP T Lamp

60700 Grommet Oval Gr
Napagold Air Filter
Spark Plug
Clean-r-carb 200z

Bigg Degreaser
Service Aw68

Cylinder Repair
Cylinder Repair

Shop Supplies

1,020.0 Parts: 866.81

0

Closed: 05/07/2014

Qty
1.00
10.00
2.00
3.00
2.00
1.00
2.00
1.00
1.00
1.00
1.00
1.00
1.00
10.00
1.00
1.00
1.00
Total: 1,886.81



Palm Beach County Fleet Management
Asset Maintenance History

Workorder: 1505839 Meter:
Problem: Engine Repair

- remove spark plug clean
- R&r carbeurator

- R&r muffler

- hew battery cable

- check and fill all tires. repair air leak at glad hands

- R&r brake light

- remove throttle cable lube and install
- replace broken axle cap top off fluid
- Shop Supplies

0

In Date:

Parts List

Spark Plug
Napagold Air Filter
Carburetor

Muffler Cover
Bc/term

Bulk Battery Cable
Gasket

Nuts

Gasket

Screw

Carburetor Gasket
Carb Gasket
Gasket

Muffler

Pipe

Tap Screw

Bolt Stud

Nuts

bolt stud

In-line Fuel Filter Honda

Brake Cleaner
41LedSTTLamp
Linch Pin 7 16

1cart Palladium 2 Grs

Napa 10w30 Qt
Shop Supplies

06/11/2015

Closed:

07/21/2015

Qty
1.00
1.00
1.00
1.00
1.00
2.00
1.00
5.00
1.00
4.00
1.00
1.00
1.00
1.00
1.00
1.00
2.00
2.00
1.00
1.00
4.00
1.00
1.00
2.00
2.00
1.00

Hours 11.50 Labor: 690.00 Parts: 493.49 Total: 1,183.49
Workorder: 1506726 Meter: O In Date: 07/06/2015 Closed: 07/07/2015
Problem: tires
- Tires
Labor: 0.00 Parts: 0.00 Total: 0.00

Hours 0.00



Palm Beach County Fleet Management
Asset Maintenance History

Workorder: 1600605 Meter: O In Date: 01/20/2016 Closed: 02/18/2016
Problem: Hitch pin/PM
-pm Parts List Qty
- pm pony motor Napa Hydraulic Filtr 1.00
- replace battery and hold down lcart Palladium 2 Grs 1.00
- replace hyd oil Aw68 Hydro Fluid Hydr 16.00
- clean engine compartment Napa 10w40 Qt 2.00
- couple and uncouple trailer Brake Cleaner 2.00
- lube cylinder grind pin and clean surface Napagold Air Filter 1.00
- road test Napagold Oil Filter 1.00
- Shop Supplies Clean-r-carb 200z 1.00
Group 26 Delco 1.00
Shop Supplies 1.00
Hours 15.50 Labor: 930.00 Parts: 167.11 Total: 1,097.11
Workorder: 1601279 Meter: O In Date:  02/05/2016 Closed: 02/12/2016

Problem: RRO RFO LFO tires

- Rro Rfo Lfo tires

Hours 0.00 Labor: 0.00 Parts: 0.00 Total: 0.00
Workorder: 1608481 Meter: O In Date: 08/16/2016 Closed: 08/19/2016
Problem: Weld Trailer
- weld trailer repair Parts List Qty
- Shop Supplies Shop Supplies 1.00

Hours 4.00 Labor: 240.00 Parts: 2.00 Total: 242.00



Palm Beach County Fleet Management
Asset Maintenance History

Workorder: 1702439 Meter: O In Date:  03/09/2017 Closed: 05/24/2017
Problem: PM/ List
- Trailer/ Aps Pm Parts List Qty
- Replace hyd. lift cyl. Cut off stinger frame cyl. and replace  Spark Plug 1.00
- Redeck trailer and install steel Napagold Air Filter 1.00
- Replace all 4 air bags Napa 10w30 Qt 2.00
- Repair pony motor choke cable pin lock 1.00
- Shop Supplies stock metal 1.00
Wd40 Spr 1.00
Cut Oil Thread Lube 2.00
deck hardware 1.00
sheet metal 1.00
fittings from mako 1.00
3" pin 1.00
Pin Set 1.00
Hydraulic Cylinder 1.00
seal kit 1.00
reman cylinder 1.00
Fd Sg 1.00
dewalt 3/8 brad point drill 3.00
3/8 drill bit spade 3.00
diablo blade 24 teeth 3.00
2x6x120ak blank 4.00
2x8x16 oak blank 10.00
red paint pin 1.00
yellow paint pen 1.00
bolt hardware 1.00
Napa Hydraulic Filtr 1.00
Aw68 Hydro Fluid Hydr 10.00
air bag 4.00
Cable Tie 1.00
dot brass air fitting 4.00
5/16-18x3 Torx FIr Bd Screw 12.00
Aw68 Hydro Fluid Hydr 3.00
Sd Drill Bit 17 32 1.00
sheet metal 1.00
deck bolts 1.00
16.5 Oz Aero Kroll 1.00
Blaster Penetrant 1.00
Shop Supplies 1.00
Freight Charge 1.00

Hours 97.00 Labor: 5,820.0 Parts: 6,529.63 Total: 12,349.63
: 0



Palm Beach County Fleet Management
Asset Maintenance History

Workorder: 1704301 Meter: O In Date: 04/28/2017 Closed: 04/28/2017
Problem: 3 Tires
- Replace 3 tires
Hours 0.00 Labor: 0.00 Parts: 0.00 Total: 0.00
Workorder: 1803037 Meter: O In Date: 03/22/2018 Closed: 04/18/2018
Problem: air bags air leak
- Repair bad air fitting at rear of trailer Parts List Qty
- Test run Shop Supplies 1.00
- Shop Supplies
Hours 2.50 Labor: 150.00 Parts: 2.00 Total: 152.00
Workorder: 1808558 Meter: O In Date: 08/20/2018 Closed: 10/03/2018
Problem: pm
-Pm Parts List Qty
- Replace glad hand seals Napagold Air Filter 1.00
- Tested and replaced battery Napagold Fuel Filter 1.00
- R&r lock pin cyl. assembly and resealed Non-chlor Brake Clnr 3.00
- Repair hyd. leak at filter assembly Napa 10w30 Qt 2.00
- Replace Aps motor mounts Gladhand Seal 2.00
- Pulled Aps motor to get to starter and replaced Spark Plug 1.00
- Test Run Group 26 Delco 1.00
- Wash trailer Reman Cylinder 1.00
- Weld up new safety bar for trailer Seal Kit 1.00
- Shop Supplies Napa Hydraulic Filtr 1.00
Reman/st 1.00
Shop Supplies 1.00
Freight Charge 1.00
Hours 38.00 Labor: 2,409.5 Parts: 951.19 Total: 3,360.69
: 0
Workorder: 1907280 Meter: O In Date: 07/16/2019 Closed: 08/21/2019
Problem: pm/repair deck
-Pm Parts List Qty
- Redeck trailer 2x8x16 oak blank 20.00
- Replace air line coupler 71/4x24t Blade 1.00
- Road test 3/8 drill bit spade 2.00
- Shop Supplies Washer 1.00
3/8-16 Nylon Nut 1.00
3/8 X 2 Fender Washer 1.00
3/8x11/4 Fender Washer 1.00
Herculiner 1gal 1.00
Shop Supplies 1.00

Hours 70.00

Labor: 4,690.0
0

Parts: 3,072.00

Total: 7,762.00



Palm Beach County Fleet Management
Asset Maintenance History

Workorder: 2000992 Meter: O In Date: 01/29/2020 Closed: 01/29/2020
Problem: Transition Prep Charge

- Transition Prep Charge
Hours 2.00 Labor: 146.00 Parts: 0.00 Total: 146.00



